Cumulative Review Name:

All answers must be justified with work. Ne work, no credit!

1. Find the slope of the line / shown n the following figure.
Stors oF OTHER LiWE b (/’%’ 0) (/‘9 /0 )
M==AYy _ -0, o __s
Dx  o-y -4 2
Scorer oF A /s Af:?h’;)‘ff;/( /ﬂéwym /

. X
M= =

2. The following chart gives the number of students in a class that are a specific height in inches
height 55inches 60 inches 65 inches 70 inches 75 inches

number of students 5 6 6 l 0 b6 —

" =XACTLY ONE Y-WAWE
a) Is the number of students in each category a function of the helght‘? Yes, ghcH X WAs EXACTLY

b) Is the helght in each category a function of the number of students in that category?

No, AN X-vAevE ARS 2 ) -VAVES (= 60 poor OKAY
>4 —
3. Arethe lines y =—-0.5x+1 and y =0.5x -3 parallel, perpendicular, or neither?
L nor e SAmE (Paancii)

'
= = - — LOPE =
Seors — s 2 NE /& N WNEEATIVE ASC/FrecALS ( 7W)

1 MAT BE fhosiTiVE
4. Which of the following are ot in the domain of r(x)= )1 +/1=x7? /
(x+7)"

A) x=17 2 -X >0
(o) - (c+d#o 17
-x >~/
x+7%©

x =1 ¥ YA l
@ All numbers x such that x > 1 X#=7 P
E) All numbers x such that x <1 Ane 1w THE Dom AN
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5. Find a formula for the following graph:
- ax B =15 x|l
IZ:‘L\‘ > 3 ¥ iéqu
138 — yexe]
107
9

(28]
—
1
—
(3=
)
I
[
=
~1
T

1 1 1
= o

1

1
A\l

6. Use the graph of f(x)= X*43x+2 given below to estimate f_l(25) . (Mark all correct answers)

1\
find X Wi 9 s 2§

40

- = e e e

e
C) 6.5 D)~ 6.5 E)-1.5 F) 1.5
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7. Find a formula for the parabola

-
51y ' &
2&eos. ¥,

Faerins. ("”“f)/’( #3)

- j d.()( V)[X*?)

- - ~¢-a (o- v)(ov3)
50 =
e a(-‘l)/?)
—( = ~/24
L -
. 2
7- (0,6) 15 a Pm‘n" [j (K ‘V)(/ngj

8. Given f(x)=4x"-2 and g(x)=-3x+1,find f(g(4)) and g(/(4)).

g(¥)= ~3(¢) +/ L) =419)*-= 9 (¥t)= jﬁz) -3462)+/

=2+ ’ ‘/4/,4?}—;2’ A

J g;jﬁ;);’, Plon) = 4l) =2 =63 /?(f{v]) = "
. ‘/(/u) 2

(;{5(4)) 132~ 7

9. What is the equation of the parabola that is concave down, has vertex (-1, 5) and contains the

CHEID. e suey i 1 % =a( x-h) *k

zalxt?) 2,5
jp-ﬂ(ﬂf‘/} =g &— Subsii fute (2,0) for YA.ru/:f

Y

10. Complete the square in order to write the following function in vertex form: f(x) = x* +2x-10.

y, -}-Z)t - J0

= x “+zx +l (KCE/BA.-,AM&E'
[T ET] Ny
Z.
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11.

12

13.

14.

13,

The formula for the exponential function P such that P(3) = 24 and P(9) = 6 is given by P(r) =
#%.05 (_, 71_). Give both answers to 2 decimal places.

. ‘/x é" = b
J7%o ‘fé& // y=a )3
fif_.."é_z Kty 2y =al. 13

< "f _L L
07« /)“f’ 617 %;—3 "

= D .
4 7 b=. 137 i

Write a formula that gives the value in an account after ¢ years. Assume that the initial value in the
account is $1500 and that the account doubles in value every 10 years.
g A
=Q /9 <
Yavsvo 2

Kathleen opens a savings account with $1300. The account earns 3.2% annual interest

compounded quarterly. How much will be in the account after 13 years?
13-4

Y= 1300 (1+ 2=
/j . 4947, 37
f__

]

Let P(f)= 500"V give the size of a population of animals in year 1. After how many years will

the population be appr0x1mately 10077 '
ose /s n{/ 22 i) =, 08t
Jo07 < S008 " -
- —_— -
/007 o€ Xy

—_— 2

-
/f o0l = &
. it
= /ft(/ /} {/f//mxv/’w‘g"‘é /éfgﬁ ;

Rewriting &3 = b using logs gives
A) lna=5/3
B) In(b/3)=a @e b=3a

Gy In3a=b
: = 4L
'@jlnb:m /nb =3a
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16. Let n=log p and m=logg . Whatis log

a

D
P o
G

q
1'13
A _ =
: n° - /. 3) / 6
/ C}'} D}}( /vgl('!.'.’.- /.ﬁ)\—}f"‘ ,,//
H
B) == = 2 / 8 o P
m 5.4 ﬂf} /jj,./ (e / {/»j f’
Q) (n-m)” = 3 - m

(D)) 3n—6m
'&‘__-__/,—"

17. The doubling time for a bank account that is growing by 5.1% per year (compounded continually)

is /3. & years. Round 1 decimal place.

051t
/‘4 = 4oC e
2Ap = Ao el £ = 1359
o5t € P :
2= £ =73 € years

o 2
/A} t/,,((é . 05/ ﬁ“./}

[n 2 ‘»'--'o‘s'{,&

—

= os‘f: - X uid
18. What is the effect of the translation f(x—6a)+4& on the graph of the function f(x)? Assume a
and b are positive constants. T A
('A) Shift right 6a, then up b. rigé Ga 4P b

B) Shift right 6a, then down b.
C) Shift left 6a, then up b.
D) Shift left 6a, then down 5.

19. The graph of a function f has been shifted down 4 units, shifted 5 units to the right, and then

stretched vertically by a factor of 8. The new graph is produced by a function g. Find a formula
for g in terms of /.
§(x) = £ix)-9
Flx-s)-7
= gi.f';(xr—;’) =7,
§(x) = 3F(x-s) ~3%

(\

20. Find the coordinates of the point on the unit circle with angle « if cosar =0.630. Round each

o i g I/ ) ¢ /. i ¢ gyt )
e ﬁﬂﬂf‘/f""’r"f (/‘CQS ,g;/; /S 573) = (- 63//'/ Sin uf\i o5 {.63‘?)/2
o /A C e

coordinate to 3 decimal places. - ,
ol = W\SN (6’30)

(.¢30,.777)
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21

232,

23,

24.

23

Find the coordinates of the point at angle —23" on a circle of radius 7.1. Round each coordinate to
3 decimal places, if necessary. (rcose, 15 &)

(7. reos(-23°), 7.05/n [..Jjo))
{6.5’36 ) "02-77?)

Find the measures of the angles of the triangle if @ = 6, 5 =8, and ¢ = 5. Round to two decimal
places.
LA roeEST ANOLE ST

: Sn92. Y6S5¥_ s/
yatees 2acCeosB 22T Sind

v 7
g2:6%s"-2(6)(s)cos B

( - :'IIQZr
6 it B kB ngi’i‘_(i:?———m)

= —Go oS i3
3 5:4‘4- = st "'?2-‘365‘?3

- v
- -1y 3
B = co5 ’('53 ) A :g}ﬂ'k/és;hﬁz. %g‘?z)
b4

l B=%.97 [ )
ZA =47.51 (

O =/ 92.37-97.57/

(&":37,4,20 |

What is the amplitude, period, and midline of the periodic function y =2 cos(2x)—-87

p. 2 AmlLITVbE = 2 T f’;"‘ .
Vo= 17 Anf P
= 8% e
=
petr

“ . 2 .
The angle 1357 is equivalent to _ < 7 radians.

135 0
2 o=37
[f0© = i 7
/ ,_“-"
LR
&~ <3¢

What is the length of an arc cut off by an angle of 210" in a circle of radius 2.9 meters? Give your
answer correct to 3 decimal places.

4 =
_f.?fﬁ - 2 S =/0, £2G rrthess
20°  r(29)

3605 = 210 (2m)(2.5)

—
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26. For the following function, identify the amplitude, period, horizontal shift, and vertical shift and
then graph it from -8 n <7 < 8n:

Al 2 Srrion= :;,.ﬁ fi= ﬂ_ufﬂl'l[\ 2—1— ,T]— 1 e SWiFr = :—Z_E: - —;ZZ—-’—'Z/?’“
% £ .—'}'
- b .
= 22 Vaer Swner ! —/

11}
T ph
ﬁ

28. Find a formula for a deer population which oscillates over a 6 year period between a low of 1000 in_

year /=0 and a high of 3500 in year £ =3. - ‘
— . B i 7
7;4 pidline: o = 000 #3502 gz 35001020 pe27 | gz-uspos(§t) 2

Reffec T = =
t - — = 217 r
c:’smc ~shots g 2250 Ay (250 é/— % Refectom
Dir-
Page 7 6 /73 =2
B= 2T =17



28.

30.

31,

32,

33,

.63 . Round the second answer to 3 decimal places.

A ferris wheel sitting on the ground is 24 meters in diameter and makes one revolution every 7
minutes. If you start in the 9 o'clock position # =0 and the wheel is rotating clockwise, write a
formula for your height above the ground at time 7.

M A ine ¥ =(2 Fetiod = T min ,4»“//:'3("/6 - é—? =/
F" ol g = 277
7 ® r2 o
= A = /A J'Hv, Qi"
Z7 i
v-fg ."—Jﬁ
For positive numbers x, what is the inverse of A(x) = e‘/_ 79
Jx -7
yee'r
X=e - ) - -
In X '/n(f A(x)%,rn)
[n = 1/:7—"'7

[nx +7= 99

3 " :
Let g(x)=—+6. Use composmon of functions to check/prove that
X

) e B
P 9l TE g0 s G
= x-6+¢ = 33

v P v

Given ]""l (x)=300(1.03)", solve f”l('x) =350. Round to 3 decimal places.

i 300(1.0;))( h:(%)'leﬁ o3

Lo3
350 _ .02 ~ 19 o3 109!

{{2)5’: X}

The power function through the point (2, 5) and (8, 12) is y = kx?, where k= 3.227and p =

300
(g (3) = le9 (1.07)

=Kx P 63/{/72'

97 kel 03(f) /;”l'/ {-:K(})'

J
(1 = k (3) o 109 Tt 197 J'mn i ok
(2)F oust12= P z.22799 % K
=4 7 Leu=p 3.227= K

i
ij (‘?) -/0? Lf Page 8



s A= L XZz-=% _ Hont 2o
Which of the following figures shows the graph of f(-0.5x)? 77"
vk

£
(A) Mopl oI Hl
; . i ;
(—2,6:1)

34. Let f(x)=(x—2)2(x+4).

7 e
REfFLECTAN

Retleet !
xzz 2 X" &

y=-¥¢2x=%

S s SF 2

=2 — X=-%
X = - rl“\‘i:(?

35. Which of the following are polynomials:
@ v=15x"

B) ,]»":(X2+2)(x—15)g-" EX wENTIA L

C)\ v=1—15¢++2¢° Eancriownt CAfoen’?
7). 5
(\D}’ y=1-15+21°

36. Compute the following limits:
a) lim (—5x4+7x3 —116.\12) fim —5x = =%

A= Y200
b) lim (—5x4+7x3—116x3) [~ - X f o
X—p—o0 X7 -0
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2_,
37. Find all intercepts, zeros, asymptotes, and holes of: f(x) = 17 g ?
x4+ 6x

(X*’ g)(x-g’) Zris X+§70 X-§ =0 =
= i A A x =0 X+6Z2
00 x( X +¢) Ne-y XTF g Z—j Z)ﬁ;:ﬂ

#[0)716'5)—62:;—) 74 ! )_/_L jj/: |

é X
ofo+¢) Mo HOLES S

wnclelined, no _—
Y -r(h-ll"fc'(/?#

38. As x >+, f(x)= —4x° +6x> +17— — 2 . Enter "infinity " or "~ infinity" for = or —=0.

2
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